

$$y_\epsilon(x) = \frac{1-\frac{x}{\epsilon}}{1-e^{-\frac{x}{\epsilon}}} \left(e^{-\frac{x}{\epsilon}} - e^{-\frac{x-2}{\epsilon}} \right) \quad \lim_{\epsilon \rightarrow 0} \frac{1}{\epsilon} \int_0^1 y_\epsilon(x) dx = 1$$

$$\lim_{\epsilon \rightarrow 0} \left| \frac{1}{\epsilon} \int_0^1 y_\epsilon(x) (\varphi(x) - \varphi(0)) dx \right| \leq \lim_{\epsilon \rightarrow 0} \left| \frac{1}{\epsilon} \int_0^\delta y_\epsilon(x) (\varphi(x) - \varphi(0)) dx \right| + \left| \frac{1}{\epsilon} \int_\delta^1 y_\epsilon(x) (\varphi(x) - \varphi(0)) dx \right|$$

$$I_2 = \left| \lim_{\epsilon \rightarrow 0} \frac{1}{\epsilon(1-e^{-\frac{1}{\epsilon}})} \int_\delta^1 \left(e^{-\frac{x}{\epsilon}} - e^{-\frac{x-2}{\epsilon}} \right) (\varphi(x) - \varphi(0)) dx \right| \leq \lim_{\epsilon \rightarrow 0} \frac{C}{\epsilon(1-e^{-\frac{1}{\epsilon}})} \int_\delta^1 \left(e^{-\frac{x}{\epsilon}} + e^{-\frac{x-2}{\epsilon}} \right) dx = 0$$

$$I_2 = 0 \quad \text{όταν} \quad |\varphi(x) - \varphi(0)| = C \quad \text{αφαι} \quad \varphi \in C_c(\mathbb{R})$$

$$I_1 = \lim_{\epsilon \rightarrow 0} \left| \frac{1}{\epsilon} \int_0^\delta y_\epsilon(x) (\varphi(x) - \varphi(0)) dx \right|$$

$$\text{αφαι} \quad \delta \text{ μικρό όσο } 0 \quad \text{το } \varphi \text{ συνεχής}$$

$$|\varphi(x) - \varphi(0)| \leq \eta$$

$$I_1 \leq \lim_{\epsilon \rightarrow 0} \frac{\eta}{\epsilon} \int_0^\delta y_\epsilon(x) dx \leq \lim_{\epsilon \rightarrow 0} \eta \frac{1}{\epsilon} \int_0^1 y_\epsilon(x) dx = \eta$$

$$\text{όρα} \quad \lim_{\epsilon \rightarrow 0} \left| \frac{1}{\epsilon} \int_0^1 y_\epsilon(x) (\varphi(x) - \varphi(0)) dx \right| \leq \eta \Rightarrow \lim_{\epsilon \rightarrow 0} \frac{1}{\epsilon} \int_0^1 y_\epsilon(x) \varphi(x) dx \rightarrow \varphi(0)$$